Drunkard’s Path units in this

Each block requires 4 sets of
arrangement.
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Birds in a Crosswind (beak optional)
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appropriate “L’ template to cut away the corners of the squares, then add

Adding curved corners to plain alternate blocks unites the Drunkard’s
the pie shapes.

Path design and means you don’t have to make as many! Use the

T AT AT AT AT AT AT A
AN AAN AAN AN AN AN A S
AT AT AT A T A T A T A O
SNAANAANAANAAN AAN AN A O

AT AT AT A TN A TN A T A
A AAN L AAN AN AAN AN AN
AT AT AT AT AT AT AT
T AT AT AT A TN A TN A T A
A AANAAN AN AAN AN AN
AT AT AT AT AT AT AT




